Table Handling Instructions

MVF

Syntax:

Condition
reqister:

Mowve Table Forward f MVF | ‘_FBS?M

[abel] MVF . r2

This Instruction copies a string of consecutive words from ane memory

ares into another area, beginning with the last location from the buffer to

be copied towards the start address of that buffar, Should the buffer 1o

be copiad and the receiving buffer overlap, the user must takea care not to

oveErwrite the contents of the locations in the buffer to be copied. Use in

that case the instruction MVE.

— register A1 must be loaded with the start sddress of the memary area
to be copied,

— register A2 must be loaded with the start address of the receiving
butfer,

= register r2 must contafin the number of characlers to be copied {the
number must be even and unsigned),

The execution of this instruction may be interrupted after any word

transfer. When the interrupt is accepted the contents of the instruction

counter, which is pointing to this instruction, are saved in the stack.

The contents of A1 and A? remain unchanged.

Register r2 containe the remaining number of characters 1o be tranzferred,
The execution of this instruction is resumed when the interrupt has been
serviced, When the execution is terminated A1 and A2 cantain the initial
walues,

Type Furction

Ta rd) —2 -2, (1a1) + (r2h = (AZ) + (r2]
0 =« rd, [{AT}) = (A2]
Unchanged
Lait [§] 1 4 5 7 8 10 11 14 156
0[1 1 10[000]0 0 o 2 [o ]
Rermark:

* When used in system mode 12 = A15 ar # A5,
* When used in user mode 17 ¢ A5,
*ord must be # 0.




| Syntax:

Condition
register:

Maove Tahile Backward MYEB FBSTM

[label] MVE L r2

This instruction copies a string of consecutive words from one memaory
area into another area, beginning with the first location of the buffer to
be copied towards the last location of thet buffer. Should the buffer to
be copied and the receiving buffer overlap, the user must take care not 1o
overwrite the contents of locations in the buffer to be copied. Use in that
gaze the instruction MVF,
— register &1 must contain the start address of the buffer to be copied.
— register A2 must contain the start address of the receiving buffer,
— register r? must contain the number of characters to be copied. (The
number must be even and unsigned.)
The execution of this instruction may be interrupted after any word
transfer. When the interrupt is accepted the contents of the instruction
counter, which points to this instruction, are saved in the stack. The
contents of registers A1 and A2 point to the first location 1o be trans-
farred when resuring the execution. Aegister r2 contains the remaining
number of characters 1o be transterred,
The execution of the instruction is resurmed when tha instruction
interrupt has been serviced, When the execution is terminated A1 and A2
paint to the first address after the bulfer.

Type Function
T8 Hat - [AZ}

{12 1—2 =r2: (Al)+2 =A1; [A2)+2 = AZ; ({A1)) - |AZ2]

EI'_—trE; M1y +2 - Al (AZ)+2 — A2

Unchanged

bit & A 4 b 7 8 8 10 1M 14 15
o Ry [ | 0 0 0|0 O 0 2 ]

Remark:

* When used in system mode r2 = 415 or ¥ A5,
* When used inwser mode r2 # A15.
* 2 must be # 0.

118

Mvus Move Table from User to System area MVIUS PBETM

Syntax:

Condition
register:

(MM opiion)

llabel] _ MVUS _, r2

;Frr;: E;‘tst;l.._lctlin i used to copy a table of consecutive words from a user
| ending butfer) to a system area {receiving buffer), beginning with
the first location towards its last location.,

— register A1 must contain the logi
115 b o] he logical start address (MMU) of the buffer

— ragister A2 must contain the physi
. physical start address (NO MMU) of the

register r2 must be loaded with the number of ch :
Thi aracters t
his number must be aven and not signed, TS £ bacogiul,

:he ?xecutinn of trrlis instruction may be interrupted after any word
D?:::tnr. Wh_en th&l interrupt is accepted the contents of the Instruction
name:;':; wpg::l p:éngém this instruction, are saved in the stack. The
o al point to the first location .
the F:-:Ei.‘utiﬂn is resumed. e A e
.T_t:glster r2 Immams_mle ramaining number of characters to be transferred
& execution of this instruction is resumed when the interrupt is ser-.-ice:-i.

When the execution is terminated A1 and ; 3
after the recaiving buffar. A2 point to the first address

Type Function
T8 [(a1)} - (A2

(r2 )—2 —=r12; (A1) +2 = Al (A2I+2 — AZ; ((AT) + (A2)

O —+r2; (A11+2 = Al: (A2)+2 ~ AZ

Unchanged

bit i 1 4 5 8 8 10 1 14 15
0 { Y DI | 00 G188 o rd 0

Remark:

* When used in system mode r2 = A15or# A15
* When used in user mode r2 # A15. In that casnl ari i
ner i us . f Mt i
this instruction is the same as the MVE instruction St intamlbl
* r2 must be # 0, ]
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| MVEL Mave Tahie from System fo Liser area ] MVSL ! L PBETM
fMMLU aption) L

Syntax : [label] o MVSU s r2

This instruction is used to copy a table of consecutive words from a system

area (sending buffer} to a user area (receiving buffer}, beginning with the

last Iocation of the sending area towards the first logation.

[ — register A1 must contain the physical start address (N0 pAmML of the

sending buffer.

| — register A2 must contain the logical start address (MMU) of the

receiving buffer, "

— register r2 must be loaded with the number of characters to be copied

{this number must be even and unsigned].

The execution of this instruction may be interrupted after any word
transfer. When the interrupt Is accepted the contents of the instruction
caunter, which points to this instruction, are saved in the stack. The
eontents of registers A1 and A2 remain unchanged.

Register r2 contains the remaining number of characters to be transterred.

[ The execution of the instruction is resurmned when the interrupt is serviced, o
When the execution is terminated A1 and AZ contain their initial values.

Type Function

T8 r2) =2 -2, (A1) + (2] = (A2) + (i) .
0-r2 LAl - (A2 ;
Condition
register: nchanged
:I
bt 0 1 4 & 7 B o 11 14 15 ¥
i B A i P A 2 [n]
Remark: H

* \When used in system mode r2 = A15 or # A5,

* When used in user mode r2 ¢ A15. In that case or if ML is not
available this instruction is the same as the MY instruction,

* 2 must be # 0. 1




